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MRcllY oiRBML U HAMHA ST HidL-[Aci2d 2129l dtefl, 9 avell Ale aul Yl au-it
Uldlell 6105 A2l d2UR00L, uledn DRl dst Yl el aoiars Alasil ssix{lHi gl
549 SAHUL AL i GHRAUML A 9 ?

(A) $a4 - 11 (B) 54¥ - 2

(C) $e™ - t9udl (86) (D) 5™ - 4

Heled ™l euldd @aAARA “URHGIUL GO, dellor L Avts s18L 69 ?
(A) HIBIME (B) ~LIR148L 2ALS

(C) %4952 sl (D) Helzd sALE

“@[Rel HIRDL €9 YRUAL” Us AL Sl 9 ?

(A) sl Mldueld (B) {21205 Rl &4

(C) elH1ER VUL oll2lesR (D) R[S Hedl

oL el siauRuelAl Gedul eiRd AL U[QHLAAL SUL HURLHL SAUHL >UAE € ?

(A)6 (B) 4

©)5 (D)2

aes ollsR1oL AR ANUHL 51 Kg. 32013141 sU1 tRdly G121 6llwo H3d dalHi vidd 9 ?
(A)Yried (B) [Malid e

(C) glyel- (D) [zus oyRuL

[Serll Ul 214 ANANHT ABU 5L W12 Ul MIRAHL AL HAH 5%, 2i39 wu6lR
3 4 ?

(A) 421 S[=3uL (B) 3 (=3l

(C) AdHid 1d (D) AN

[BH1e yddHlel suL (Age) AHUHL oA g € ?

(A)udy2l (B) AU [Fun Y1

(C) %RURAS Y21 (D) 2[3[u3 Y21 (Tertiary)
545 AgtAS 2142 8 2U5190AL IRl 2H2HAL B O ?

(A) ustasd ulzelq (B) ustald, aldeiast

(C) ustadd [Qad- (D) uslalsi [Acios-
GURAHL AHAU ALY BauleAHL Gelloll-l SLoUL Sedl 25169 ?

(A)25% (B) 29%

(C)32% (D) 39%

MURclAL GLHIRRIML ARLR Sl YN d 539l AHLAL SUL HIRIHL SAML 24144 €97
(A) ™12 - 3 (A) (B) MI2L- 5 (A)

(C) ML -4 (A) (D) ™12 - 6 (A)
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‘HIRAR L AU MU HEIYRY 5181 el ?

(A) 3L. A% UALE (B) &L. udued] unLgL
(C) Hslza™LS sl (D) dléolelgR Arell
{12 UL sul stdsunl Sre58la olliAl GUalaL saALHL 21 €9 ?

(A) Uil A [14, (B) olle Ui se

(C) A d selU3H (D) 5% U5

Y
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(A) 14 (B) 16

(C) 18 (D) 19
cRcld e (el 55 dlel-l [avu 69 ?

(A) 55 Uil (B) %4 ULl
(C) Ay sd ulel (D) [eet wigl
Sy & Vid:ollar Geuled ALIReAL sUL oML A ?
(A) %8R (B) 2alg[Us
(C) i, 2UdRS (D) Ho1%

SL4l [Qasu (Y3m) - 2023 suL2ani Dleadl odl ?

(A) M1 (B) LUl
(C) 81 (D) allBe
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(A) 79 (B) 80
(©) 81 (D) 82

Al [l {l[a-2020 2idold uerd/SwatRid Uzl Wil Ysdy eAldqRS i dpRiadiyel
HiAlSld, Ulde 5269 5 51 o 2Rlal % A2 HAMRL 534 9 d 565 AL 69 7

(A) PARAKH (B) SWAYAM

(C) DIKSHA (D) SSSA

ALY, [evel {l[A-202041 sl a1 Yl Higeuml (e 2ol 69 ?
(A) HI8L- 6 (B) 1381 - 8

(C) 4lReL- 10 (D) {28l - 5
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(21)  AUIR e Gellol 1B AeAIUSHHL 3512 s 20 9 dlL Suae(l-l 2l uR suL uRein-l
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(A) Airslds uRoto (B) A1H1[¥s uReio
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(A) s Ay (B) lirt ULl e 4y
(C) yel @artd @iy (D) AL AHAUAL AEBUALOLG A
(23)  Geall, 2ACURASH, A2 24 AHuMaUlel o o AR €l R d 3aaelld 53 a3y ey ?
(A) 2A-luALRS (B) »lu2ns
(C) x3MAs (D) A5
24) 1AL U5L sul s1dsH 23R Ravein {4 ey usdl el ?
(A) V&Rl (B) ulaul
(C) Aauu -l dlelln (D) Ay 5t
(25) U UBAHAHA] 2191 UodIHL 59 otiotd AHU[AR 2l ?
(A) MIH (B) wlReux
©)ulsu (D) 4euis+
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(A) WRLRS [l (B) e[sclcatmi [Merdll
(C) R1-3[RHi [l (D) AU s [l
(27) %l %ol olfg Hirisil 2L UG Sl AMLde Al 2]l ?
(A) L.Q. (oifaHiis) (B) S.Q. (>u=[ds oi[gHidis)
(C)R.Q. (ulfs oyfaHuris) (D) E.Q. (uiaBis oyfgi-iis)
28) 13-l Usl £181 qavAs (MR AN a5l 221 53] ol ?
(A) q5391¢ (B) 22121
(C) Mol (D) 9122
(29)  lsaniedl sal, Ad(ld, A UMSAL Fell AlsapiAL HIUA HI2 59 sULEL UL 9 ?
(A) AERL HIUES (B) 2[R 52114
(C) 4 Aallul=st (D) (MUY AL 5112
(30)  adfvizui adl 218l us{l i B Al AL 2l A2l ?
(A) Ras - [Qendl qeiR (B) [Qeuell - mall el
(C) [2181s - M2l aer (D) (el - [Qenel cwasiz
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(33)

(34)

(35)

(36)

(37)

(38)

(39)

(40)

AR

AR Gualam] Aciel Herald RAMRAL 181 2Aisstaueld Hiumi {12 W4l sy -l Al ?

(A)Hs (B) {2
(C) tlgds (D) Heuloig,
Yeuise el 218l sAEI2UHL s Y Us 9 ?

(A) &lbid (B) Hl[bis
(GRIIEE (D) Buicis

3dR8L YUats (Spread Sheet) {1241 U4 A+l 018 soudl €9 7
(A28l U~ts (Spread Sheet) (12l Usl a-{l u12L A souadl €9 ?

(A) {5152 M54 (B) ML 5lA1F2 ULAR UlH+2
(C) H1Ss1lls2 af (D) P15

‘Y3 i Aed4i S Riaedl Baiuis saladii sudl o ?
(A) ollogeis otest (B) Lol ¢z
(C) dIRIOA HL3s (D)% sway[d

“3oaell Gaules aH gL, Geules M HIe 2 Bules sx-l o €l A%

(A) HelcHL 2Likley (B) (sl 21l

(C) 2l »1:[Ag (D)2l [Qd sivie

{121 U4 sl Rigid el S gL % s2a1ML 24194 Rigidlmi A2l 2uadl ?
(A) GualBidirl Rigid (B) uglxicl [Rugic

(C) 1l Rigid (D) 2+l Rugid

Ad M1 AL&RAL 51454 (NILP) s4L 4y %2l [HR8120 HIS 03 5414l 21dd 6 ?
(A) 15 adf 24 d+{l Gu-l dHIH (B) 15 adell 55 ar{ yHl

(C) 6 a2l 14 ar{ yHl (D) 21 ar{fl 65 ar 4l

One Nation, One Digital Platform d<l5 5191 2410100124 €9 ?

(A) PM eVIDYA (B) BISAG-N

(C) DIKSHA (D) Vande Gujarat Channel
Slegdlel dtellHll snasll-l az2id saudl ald 518l 530 edl ?

(A) SL. 2. AR (B) R[Avs-il2 2100

(C) HelcHL 2litloy (D) He[¥ 21:(de

[afare sl sl M2 Slesdl gil (18t vl a3tid 518l 530 edl ?
(A) HURUL Hireudl (B) A4 s+lles

(C) B Muy (D) Sl ulaela
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(44)

(45)

(46)

(47)

(48)

(49)

YA, A2 AR AL HelQstl 2L AL Rigid e 12 200l 56 s 2020l 69 ?
(A) Hdt 2 o4 -[Qd0124) (B) adHale - uladld

(C) ARA-LALE - Rs+1R (D) 5135 2A[HA4LA - L35S

{1241 U4 5 cralBusdl 26 UsLAL 2l ?

(A) A~ Ml g™ %369,

(B) 224t 12 udlaRel A12 2idAsuL 3 ©.

(C) vt s URRALAHI oflow ulRR2AMAH AsHRL A5 A5 .

(D) A4 HLe B[ #3369,

Discovery Learning 2A[H214. 51+l glR1L 2% $2A1ML A1) &l ?
INRCERE] (B) %M ¢4-12
(C) Gll=gRl (D) AYAE

‘14 A1 Brosulanon adord a-150 32 A1 77 - UL UL FALL RO 61018 YAl BUAIDL 52 69,
261, [Qenellat 53 olifgs slaed wid s3¢ e ?

(A) [asiglsel (B) seu~ll

(C) [Run (D) uML B3¢

AAAmidl 56 afami onosl wRs Axos olilas s1daHdl eladed A 9 ?

(A) 3G Al=51H (B) ADHD

(C) Aot Wil (D) U2

oM 425381 (Bloom’s Taxonomy) 2413 {121 U5l 5 [Bul oitgl-iell G 2R »1asl ?
(A) Heuis (B) A%

(C) yauss:8l (D) Guui-

Rilg 520121 12 A1 U4 g 2ulou e ?

(A) [Qeunell1i o1a o Uil ot UL A3 deel AHU PUUALHL 2419 6.
(B) 4 olac{l A12 A stude 9.

(C) RaLsid vid vtuaHi 249 .

(D) Ui+l u2ied(l [zl wdotddl 251 ddl fd saMi 214 .
{1241 U4 54 vewadl Rl wu saldl asd el ?

(A) Hs (B) [AzdIR

(C) 12 (D) 6lgds

uuel [Quad (o) w2 g 0 -2l ?

(A) UHIRL (e Heu wed Atir, ad(ogu-{l am3udlay,.

(B) 835 UIAisHL 515 20200 vl GHRAL] MRl [QAeAHT auIL 21 69,
(C) &35 Ulkdis 215 o s R 2419 dl UHISL [QAen dedl 2% a8 .
(D) M8l [QAAAAL Gualol Midisi-l AlAddl AL ad 6.
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(50)

(51

(52)

(53)

(54)

(55)

(56)

(57)

(58)

(59)

(60)

A2l 58 S-seredl cla@isal well ?

(A) d 55 Rowed @3UHL Slu 6. (B) clrl AU 5 A HIAH GIRL Y SRUA 9.
(C) Ml 55d 2[AHAA % S1U 9. (D) d-l QR Code 18 ¢l5 53] as18 6.
{1211 U4l 53 OER 2l ?

(A) BISAG -N (B) GROWER

(C) NROER (D) e-pathshala

{12 44l 56 otlotd Saldorl Aseu-tia g usdl el ?
(A) YA - AAYA AHRAA QA Y. (B) vLAUAAL visHL [A5e4 69,

(C) adifA1aeL uUE o1 9. (D) MUl 2AAe S Guasa 9.,
el LRI A6i[Ad 2 R aldy uidl astdl A2l d sl usid, el o ?
(A) WALBLS A2l (B) ud&asl

(C) Huold ¥l (D) (Bulcis AlbA

‘OlLULS ALl A5 69, BUALSAL Al - 24 (At sl aleedl (R 69 ?

(A) dd-lale (B) wuglasale

(C) Ad8IRALE (D) ARALAE

‘Foaell v gerdl ulsur e, s Al - v Aseunl 519 2udl odl ?

(A) wReled (B) 3l

(C) 51014 (D) Hi~eudl

R, U, X,A, D, ? usuel Rial oouiat A1 ydl 5341 g 21199 ?

(A)F B)G

(OH D)1
1,3,3,6,7,9,9,12,21,2 usiel Ra-dl oouiat A< ydl 5241 9 20a9 ?
(A) 10 (B) 11

(C) 12 (D) 13

10, 100, 200, 310, 2 Mg P&l oouiat Al Yl sa1 g >l ?

(A) 400 (B)410

(C) 420 (D) 430

TEACHER 4 5134541 VGCEJGT d2l¥ auidlii 219 dl CHILDREN < $13a$4i <A1 U4l su1
108 gl VAL Al ?
(A) EJKXNEGTP (B) EGKNFITP

(C) EJIKNFGTO (D) EJKNFTGP
TWENTY A 5132841 863985 24+ ELEVEN A 5130841 323039 % auididi >4 dl TWELVE d

Slaasui A U5 5 Advul gl ealaardl 299 ?
(A) 863203 (B) 863584

(C) 863903 (D) 863063
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(61) S8 MUIMIHL “123° le@ ‘bright little boy’ il 145> »12& “tall big boy’ dH% 637’ 2d
‘beautiful little flower’ dl 26% “bright” HI 50 AvUl 41491 ?
(A)1 (B)2 ©)3 (D)4

(62) A+ 2A X, X e —, + u2A + il — V2@ + dlF dAVAHI VA dl 175-25+5+20x3 + 10
A uRaum 1Al 5 dval a9l
(A) 77 (B) 160 (C) 240 (D) 2370

(63)  uglani 77l o Yoy [Asey uie s3U.

20160 4
? 4
480 8
9% 24
(A) 860 (B) 1140 (C) 2880 (D) 3240

(64) 204 Guslani sedl BLsieL »uaar ey ?

(A) 15 (B) 16 (C) 17 (D) 18

(65)  3:40 sell5 (A2 siel i sels sial a2l vl S2al el el ?

(A) 140 (B) 150 (C) 130 (D) 120
(66) el Ul s kL ?

(A) el - g4 (B) Aue - 414§

(C) wasull - det (D) vis - A4

(67)  UUE 68 HOUERLAL 51 UHLSL OLLsdl.
(1) INTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE
(A)3,2,5,4,1 (B)3,4,5,2, 1
(C)4,5,1,3,2 (D)3,1,2,4,5
(68) A5 [Au ardl uddl [zax AQaR 9. dl d avui dedl AR ¢ ?
(A) 50 (B) 51 (C) 52 (D) 53
(69) s s a-ll sl ydd [Bami 50 (3.l actd . d gl oo aiolla 30 (3.4l A4 &, d ugl ulan
[Bauniaolla 10 (3.3, 29 . ol d wiZetell sean (5.4, g9 ?
(A)20(5.4. (B) 50 [5.4L.
(C) 100 (5.31. (D) 60 [5.31.
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(70)

(71)

(72)

(73)

(74)

(75)

(76)

(77)

(78)

(79)

(80)

(81)

AL 2L5(d 2kl ?
A B C D

/
L/

(A)A (B)B ©)C (D)D
.................. 2 [0et el 2] 69

(A) 2Ad (B) ¢AlAe (C) ¢A+id1 (D) dux
Aol sH{HIY AU BELeWL D,

(A) dsuly (B) s€uq8t (C) vayd (D) URHAR

dxLR1{l adldl A1H GLAL AU A GlLEI . - ALsUAL USIR 2O,

(A) 5dR (B) 48l (C) d (D) A2s

A5l el sadzuimi Al €ldl, weudad SHIRd 2l A5 A2l Sidl. U St U5t Ludl.
(A) g8l (B) Y5ds (C) 8155 (D) 112

uildl el 5569 ?

(A)Yyse (B) els3l (C) 25341 (D) sl-e

‘“flra’ el [Azgidl aoe g i ?

NEREIE (B)udd (C) 3L (D) slellse

Al 208l vl s €l d [Aseu sul e ?

(A) V™8l - 9151 (B) vt-iRqll - [1dald (C) »13al3y - qally (D) 2Uddl- Hgdl
B3Il AR Gl AL ML 8L ULS UR Avale 3 5 Glrid 2 - A0eAYHS HISrlL 215 2108 $2L 697
(A) eull (B) esl@y (C) Ullst (D) {3l

(APl GRA MYloL A 2L Sld dd alsd s34, ?

(A) sl ! ed [ARid ad !

(B) ugust %S [Qenellail {asan, 204 518 4o wil Al Gaustl 4ol eS aadl usdl.

(C) oY, : HIRL @uilell i o1 di Al

(D) .....dl MR MY,

916% 24, dell 251l 2eeiAl vEl s Sl ddl [Qsey su169 ?

(A)2LRL- YL, Bl (B) 2 - U8, [RuiR

(C) sl - |-, 2ic:5281 (D) 52 - (3381, e

U AL B 53¢ 208l GRA U0l 2dlL Sl dd, dlsd 53469 7

(A) H 2L UsL S 621 Qi) A2l (B) 14 AUNAUR ALY o % LU 9.

(C) AL £9 UL AER AUIEAY ik ULU 69, (D) 25 iasHizl unafsd WHIEl el 539, A5
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(82) ‘eAmd woe~llAM[AAS g A ?

(A) 2 + A2 (B) 2 + 1Y
(C) 2 + Ay (D) el + A2

(83)  ulal alsIHi ‘sHRL asy’ s ?
(A) L AHYUHIL ElLSL YOUR WM. (B) 218, UALA HIYRALA BHLSRL.
(C) U1 AL AL | 2l AW 9. (D) 2A8LS 5O ol A Sl

(84)  “09o(l UR AM-ARAY, crialel BUId WRWR 5101 flagll.” - alsdui JuilEd 53 Ae “wRUR
[Barfaameil sdl usiz 9 ?

(A) 2211l Buifagive (B) AHu1As [Bulagdme

(C) Alacuas [ufagme (D) 2alAals Buifagust
(85)  ‘HIRL SAUAL Il Al 2L e, 2 AY.7 - AASIR MiLviLAl.

(A) 525 A1 512 (B) 2Alaa1difsd 512

(C) 3us 2dsIR (D) GUHL AESIR

(86) Mahesh was too smart. (Remove ‘too’ without changing the meaning.)
(A) Mahesh was not smart at all.
(B) Mahesh was smart more than required.
(C) Mahesh was foolish.
(D) I was doubtful whether Mahesh was smart or not.

B7) e INS Arihant is .................... Indian Naval ship. (Fill in the blanks)
(A) The & an (B) An & an
(C)A&an (D) The & the
(88)  Most students have brought their homework. ..................... of them have not completed it yet.
(A) None (B) Few
(C) Each (D) Alittle

(89) ¥ HIRL ALY SULAL. - Vil ALSU e ALS5YU iAW HIMIdR 3 =9 ?
(A) I cut my hair. (B) I clipped my hair.
(C) I got my hair cut. (D) I'had anice hair cut.

(90)  Give the nearest meaning of word : ‘Phantom’.

(A) existent (B) imaginary

(C) corporeal (D) tangible
(91)  Givethe verb form of ‘little’.

(A) alittle (B) unlittle

(O)belittle (D)bilittle
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(92)

(93)

(94)

(95)

(96)

97)

(98)

(99)

(100)

Change the voice : “What caused COVID-19 7”
(A) What was COVID-19 caused by ? (B) What was caused by COVID-19 ?
(C) By what is COVID-19 caused ? (D) By what COVID-19 was caused ?

Select the word or phrase which is closest to the opposite in meaning of the underlined word : “Rahul
will never accept your request.”

(A) turn over (B) turn down

(C) turnup (D) reject

Add a suitable question tag : Radha, one of my neighbours slipped off a staircase. ............. ?

(A) did she (B) does she

(C) doesn’t she (D) didn’t she

Fill in the blanks with appropriate set of prepositions : Nidhi travelled................. hermotherall.................
the world when she was 17 years old.

(A) by, above (B) for, around

(C) with, around (D) with, over

Turn this sentence into English : ““©% U8l ¢ d= il 215¢ll Gl el oS 25l gdl.”
(A) Icouldstill saw her standing there alone. ~ (B) I could still see her stood there alone.

(C) I could still see her standing there alone. (D) Icanstill see her standing there alone.

Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation

..................... May 2023. They ..................... to Manali for a week.
(A) for, had gone (B) since, had gone
(C) for, have gone (D) since, have gone

Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?

(B) When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D) Where did Mantra get the first prize ?

| 217 E in this company for five years. Find out correct form of verb from the options.
(A)works (B) is working
(C) has been working (D) have worked

Find out the correct spelling from the options.

(A) Spactacular (B) Spectacular
(C) Spactaculor (D) Specteculor
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(101) Mr. Dave has been working here since 2015. Identify the function used.

(A) Specifying time (B) Specifying location
(C) Duration of time (D) Point of time
(102) Select the word having the nearest meaning for : Mob.
(A) Unit (B) Crowd
(C) Meeting (D) Group

(103) Father told the son that he would get used to the life in hostel. He also advised him not to be misled by
the freedom that one gets were. Replace the underlined words selecting the most appropriate option.
(A) get acquainted with, carried off by (B) get known to, carried towards
(C) get habituated to, carried away by (D) get knowledged about, carried into

(104) Unscramble the jumbled up parts to make a meaningful sentence.
the best student / Chaitali/ of the year prize / when she was awarded / felt very happy

1 2 3 4 5
(A)25413 (B)41325
(C) 21543 (D) 12543
(105) Find out the nearest meaning : Haze.
(A) Near (B) Fog
(C) Gaze (D) Gain
(106) Find out the incorrect list of verb forms.
(A) Steal stole stolen (B)Slide slid sliden
(C) Strive strove striven (D) Speak spoke spoken
107) oo at the party, we saw Ramesh standing alone. Fill in the blank with proper word /
Y: g
words
(A) Arrived (B) We arrived
(C) Arriving (D) We were arriving
(108) Identify the figure of speech. She was shivering with shock.
(A) Repetition (B) Metaphor
(C) Irony (D) Alliteration
(109) Find out incorrect forms of degree.
(A) Far Farther Farthest (B) Fore Former Foremest
(C) Late Later Latest (D)In  Inner Innermost

(110) Number the following sentences to show the order in which the events occurred in the
lesson 'Mohan and his Veena'.
1. Mohan was depressed and cried.
2. Hewas attracted to guitar.
3 Hedecided to work hard and make the instrument his face.
4. He wasnot appreciated well in a family concert.
(A)3142 (B)1234
(C)1342 (D)1432
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(111)

(112)

(113)

(114)

(115)

(116)

(117)

(118)

Match Awith B

A B
Buildings for soldiers to live in Squadron
A unit of an air force Compass
An instrument for measuring angles. Barrack
An instrument containing a pointer which shows the direction Protractors
(A)l1;d 2;a3;b 4;c B)l;a 2;b 3;c 4:d
C)1l;c 2;a 3;d 4;b MD)l;b 2;c¢c 3;a 4;d

This alluring place is known as the Valley of flowers. Choose the nearest meaning for the
underlined word.

(A) well - known (B) attractive

(C) beautiful (D) wonderful

Choose the correct conditional sentence.

(A) Unless we do not brush our teeth regularly, they will grow weak.
(B) If we brush our teeth regularly, they will grow weak.

(C) Unless we brush our teeth regularly, they will not grow weak.
(D) Unless we brush our teeth regularly, they will grow weak.

He is a philanthropic person. Select a similar word for the underlined word.
(A)Kind (B) Cruel
(C) Greedy (D) Sweet

My father takes tea five times in a day. Which question is suitable to get answer for the
underlined part ?

(A) How much does your father take tea in a day ?

(B) How often does your father take tea in a day ?

(C) How many times does your father takes tea in a day ?

(D) How does your father take tea in a day ?

Find out the incorrect part. [ hear some funny mistakes, listen to the radio.

1 2 3 4
(A)1 (B)2
©)3 (D) 4

The boy said, "Hurrah ! our team has won the match." Select the correct indirect speech.
(A) The boy exclaimed with joy their team had won the match.

(B) The boy exclaimed with joy that team had won the match.

(C) The boy exclaimed with joy that their team won the match.

(D) The boy exclaimed with joy that their team had won the match.

Select the nearest meaning. Be the best of whatever you are.

(A) We should do our work in the best possible manner.

(B) Put in your best, don't feel ashamed even if you are a small person. Just do the best.
(C) We should be the best amongst all.

(D) We should try to become the biggest in size.
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(119)

(120)

(121)

(122)

(123)

(124)

(125)

(126)

(127)

(128)

(129)

Choose appropriate option to complete the extract.

The Vedas singabout ............ of man and nature. The idea expressed in ancient text
has............... value. We have always tried for preservationand ............... of all species
including mankind on this earth.

(A) oneness, prosperity, universal (B) oneness, universal, prosperity
(C) prosperity, oneness, universal (D) prosperity, universal, oneness

The ArjunAward ................ to Dhoni Last year. Fill in the blank with Proper verb.
(A) was given (B) has given (C)had given (D)is given

Complete the sentence with the function of language 'Manner of Action'. Hitesh bats as

(A) he was taught (B) ifhe were Dhoni
(C) he is taught (D) he is Dhoni
ITamateacher,.......................... ? Put proper question tag.
(A)amn'tl ? (B)aren't1? (C)don't1? (D) wasn't1?
Choose the correct spelling.
(A) Incandascent (B)Incedascent
(C) Incandescant (D) Incandescent
The Science of fireworksiscalled ...........................
(A) Pyromanics (B)Pyrogenics
(C) Pyroscience (D) Pyrotechnics
Darshan and Bhairavi help each other. What kind of pronoun the underlined word is ?
(A) Reciprocal (B) Distributive
(C)Reflexive (D) Relative
The person............... you met at the bus stop yesterday is my uncle. Put proper
connector.
(A)who (B) whose (C) whom (D) when
One morning .............. the giant was .................. in a bed, he heard some .................
music.
Complete the paragraph with proper words.
(A) where, living, loving (B) when, lying, lovely
(C) who, laying, loving (D) when, lie, lovely
Wemust................... practice our thoughts. Put proper verb preposition.
(A) puton (B) put into (C)putin (D) put at
Match'A with 'B".

A B
That has little value Drowsy
Extremely emotional wave audible
feeling sleepy frenzy
that can be heard easily trifle
(A)1-d, 2-¢c, 3-a, 4-Db B)1-b, 2-a, 3-c, 4-d
C)l-c, 2-d, 3-b, 4-a (D)1-a,2-d, 3-b, 4-c
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(130) A sentence that expresses blessings, good wishesiscalled ............... sentence.
(A) Imperative (B) Exclamatory
(C) Declarative (D) Optative

(131) Whatdoes 'tune up' mean ?
(A) prepare your mind and body for a task (B) exercising
(C) prepare your body for yoga (D) repairing an instrument

(132) Select the title of the read related with the sentence :
If she had not supported and encouraged me to learn, I would not have enjoyed the

beauty of the world.
(A) our Feathered Friends (B) Ilove you, Teacher
(C) Kach and Devayani (D) playing with fire
(133) Select the title of the read related with the sentence : All her parts should be movable
and replaceable too.
(A) Awonderful creation (B) Tune up o Teens

(C) An interview with Arun Krishnamurthy (D)our Feathered Friends

(134) Select the correct degree of comparison.
(A) Mahesh is taller than Haresh.
(B) The Ganga is longest river in India.
(C) Ahmedabad is one of the hottest city in Gujarat.
(D) Kavita is not so short as Meena.

(135) Find out how many mistakes are there in the following sentence. Our neighbour boy has
gone to pictures but we didn't want our to go.

(A) 1 B) 2
©) 3 (D) 4
(136) Heisafool indeed. What is the function of the underlined word?
(A) Adverb (B) Adjective
(C) Noun (D) Pronoun
(137) Select an option different from others.
(A) to mock (B) to huff
(C) to poke (D) to blub
(138) Fill inthe blanks to complete the paragraph.
Akbar, ............... was with Tansen, was dressed not as an Emperor ............. as an ordi-
naryman, ............. Only wish was to hear santHaridas.
(A) who, or, whom (B) Which, but, whose
(C) Who, but, whose (D)who, or, whose
(139) Ifyouare guilty,you............. anytime. Fill in the blank with appropriate verb form.
(A) are trapped (B) will trap
(C) have been trapped (D) will be trapped
(140) You need a walking stick to cross this road. Identify the function of the underlined word.
(A) Present participle (B) Gerund
(C) Perfect participle (D)Adverb
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(141)

(142)

(143)

(144)

(145)

(146)

(147)

(148)

(149)

(150)

(151)

Shegoes ..........c.eunnnne. school and met his friend on the way. Put proper preposition.
(A)on (B)to
(C) by (D) towards

Change into passive : His colleagues started to respect Tim.
(A) Tim was started to respect by his colleagues.

(B) Tim started to be respected by his colleagues.

(C) Tim was started to be respected by his colleagues.
(D)Tim started to be respect by his colleagues.

Select the correct sentence.

(A) They let me borrow their car while they were on holiday.
(B) They let me borrowing their car while they were on holiday.
(C) They let me to borrow their car while they were on holiday.
(D) They let me borrowed their car while they were on holiday.

Find out the sentence with correct punctuations.

(A) The angel said, "A mighty impossible task, I suppose. Six pair of hands ? No way !"
(B) The angel said, "A mighty impossible task I suppose. Six pair of hands ? No way !"
(C) The angel said, "A mighty impossible task, I suppose, six pair of hands, No way !"
(D) The angel said, "A mighty impossible task I suppose, six pair of hands ! no way ?

Weshallact ............... your advice. Select an appropriate phrase preposition.

(A) in favour of (B) on account of

(C) in accordance with (D) with regard to

Select a word which is not a part of the group.

(A) savagely (B) fearlessly

(C) brutally (D) cruelly

Carve mynichemeans ..........

(A) I'will make my own place in this world. (B) I'will shape myself

(C) I'will deal with my feelings (D) Iam on my search for what I like.
Itwilltake ............... time, but [ am sure you will learn the rules of cricket eventually.
(A) few (B)alittle

(C)afew (D) little

At the meeting, the ministers agreed ....................... new measures to combat terrorism.
Put proper word to fill in the blank.

(A) about (B) with

(C)at (D)on

That surely can'tbe................ Jenny Watson we knew in Zimbabwe. Put proper article. If
not needed then select zero article.

(A)the (B)a

(C)an (D) zero article

If you try to appear better or bigger than actually what you are then you are .................
(A) snobbish (B) arrogant

(C) inspired (D) venture
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(152)

(153)

(154)

(155)

(156)

(157)

(158)

(159)

(160)

(161)

(162)

Find out which one is correct.

(A) Talking to Kahan is worth.

(B) This instrument isn't worth to be repaired.

(C) They have ordered a million rupee's worth of a car.
(D) Is it visiting Nainital worth ?

Kalam said, "I was thinking of getting my father one for his birthday". Find out the
Indirect Speech for this sentence.

(A) Kalam said that he had been thinking of getting his father one for his birthday.
(B) Kalam said that he was thinking of getting his father one for his birthday.

(C) Kalam said that he had been thinking of getting my father one for his birthday.
(D) Kalam said that he had been thinking of getting his father one for my birthday.

Helooks forward ................. from his friend soon.

(A) hearing (B) to hearing

(C) hear (D) to hear

He.......ooooiii his work by tomorrow.

(A) may finished (B) may has finished

(C) may have finished (D) may have finish

The building of her officeis ............coceveviiiiiinin.o the road.

(A)on (B) across

(C) through (D) along

She has told him that time and time again. Replace the underlined words with correct

option.
(A) every time she sees him (B) for two months
(C) since two years (D) since every year

What timeisit? Herewhatis...........................
(A) pronoun (B)noun
(O) relative noun (D) determiner

The court gave him two months in which to pay the fine. Find out the proper passive
voice.

(A) He s given two months in which to pay the fine.

(B) He had given two months by the court in which to pay the fine.

(C) Two months were given him by the court in which to pay the fine.

(D) He was given two months by the court in which to pay the fine.

Which part talks about the condition in conditional sentences ?

(A) part with an article (B) part with hope

(C) the part which starts with if not (D) the part with question mark
Who wrote the poem "The Road not Taken"?

(A) Charles Pole (B) Robert Frost

(C) Navin Paul (D)Rameshnath Lahori

What should one supposed to do when something is regarded as "auspicious"?
(A)Banit (B)Avoid it

(C) Welcome it (D) Say good bye it
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(163) The wind can be able to blew out weak fires. Select correct word from the following
options to replace the underlined word.

(A) Blown (B)Blowed
(C) Blowing (D) Blow
(164) Write antonym of the word 'deplorable’. ..
(A) the Happy guy (B) the Wretched
(C) the Good (D) the hopeful
(165) oo, for two days, she was desperate to get to the bathroom. Select correct
answer from the following.
(A) Had bathed (B) Having been bathed
(C) Having not been bathed (D) Having not bathed
(166) Select the meaning of the word "missive" from the following options.
(A) Short poem (B) Long book
(C)along official letter (D) ashort unofficial letter
(167) Select the correct word which means something is near or closer.
(A) Imminnent (B)Immenent
(C) Simminent (D) Imminent
(168) Which prefix can be used to create opposite word rational ?
(A)im- (B)ir- (©)il- (D)un-
(169) Write the comparative degree form of the adjective 'uncanny'.
(A) more uncanny (B) most uncanny
(C)uncannier (D) notuncanny

(170) The lesson "The Bond of Love" is about which animal ?

(A)sloth dog (B) sloth bear
(C) sloth cat (D) sloth cow
(171) On which genre is the lesson of Nelson Mandela titled as "Long walk to Freedom'based
on?
(A)ANovel (B) ABiography
(C) An Autobiography (D)APoem

(172) The subjugate of the people requires a long process of colonization. Change the
underlined word with correct option.

(A) Subjugated (B) Subjugatation
(C) Subjugation (D) Subjugates
(173) The atmosphere gets somber as the sky gets black. Select the correct option for the
underlined word.
(A) Full of black birds (B) Full of black planes
(C) Full of dark cloud (D) Full of dark horses

(174) Don't let her fly into rage as she knows nothing about this mess. Select the correct option
for the underlined words.
(A) Be successful (B) Be happy
(C) Become dull (D) To lose one's temper
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(175) Identify the category of the word "stay in" from the given options.

(A) Compound noun (B) Action verb
(C) Non - action verb (D) Phrasal verb
(176) Ttis................. that he dislikes coffee since he goes for a cup of tea. Select correct option
to fill the blank.
(A) not proper (B)obviously
(C) improper (D)obvious
ich components of grammar create a verb - "undergo"?
177) Which comp far b - "undergo"?
(A) Verb and preposition (B)Verb and noun
(C) Verb and verb (D) Verb and pronoun
(178) What does tales of valor generally suggest ?
(A) A story of bravery and courage (B) A story of parenthood
(C) A story of motherhood (D) A story of family - line
(179) What does "Collocation of a word" stand for ?
(A) The company it keeps (B) The best company
(C) The wise company (D) The bad company
(180) Thereare............... speech sounds in English.
(A)42 (B)26
(C)44 (D)24
(181) e, is the smallest meaningful unit in a language.
(A) Sentence (B) word
(C) Phoneme (D)Morpheme
(182) e, Lesson plan also provides a chance to re-teach.
(A) Bridge (B) Micro
(C) Stray (D) Unit
(183) Theteacherisjusta................. who manages the environment and materials which will
help the students become autonomous learners.
(A) Facilitator (B) Instructor
(C) Guide (D) Philosopher
(184) o is concerned with the theory of the nature of language and language
learning,
(A) Method (B) Technique
(C) Approach (D) Procedure
(185) The....covvvvvnvnnnnne. method describes a person who can jump from one language to another
easily and talk fluently about any situation in either the mother tongue or the target
language with equal ease.
(A)bilingual (B) eclectic
(C) grammar translation (D) situational
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(187)

(188)

(189)

(190)

(191)

(192)

(193)

(194)

(195)

...................... approach refers to a teaching situation in which the teacher does not use
any one particular method but includes a mixture of different methods to suit his class.

(A) Direct (B) Eclectic

(C) Communicative (D) Situational

...................... method of teaching is the practical solution of making teaching of grammar
effective and enriching,

(A) Grammar - translation (B) Structural

(C) Audio - lingual (D) Inductive - Deductive

Most of the exams in Indian universities, schools and colleges ask students to write a
paragraph or a long essay on a given topic. This is an exampleof .................. writing.

(A) controlled (B) parallel

(C) free (D) communicative

Which one of the followings is not a part of Dr. B. S. Bloom's taxonomy?

(A) Psychomotor Domain (B) Affective Domain

(C) Cognitive Domain (D) Instructive Domain
A test is actually a passage in which some words have been deleted and
students are required to fill up these gaps with appropriate words.

(A) guided (B) open - ended

(C)cloze (D) dictation

.................... is the technique used by a teacher to get learners to produce speech or
writing.

(A) Elicitation (B) Discrimination

(C) Elimination (D) Repetition

........... test determines what errors are occurring and what corrective measures should be
needed to rectify those errors.

(A) Aptitude (B) Proficiency

(C) Achievement (D) Diagnostic
What can be the first stage of reading skill called ?

(A) Secondary level (B) Preparatory level
(C)Advanced level (D) Metalevel

During situational conversation, what is the opportunity for the learners ?
(A) They become happy and joyful

(B) They become mute for nothing.

(C) They begin to think on a particular idea actively

(D) They look outside and laugh.

What is the essential aspect in terms of teaching poetry in English ?
(A) Learners become able to learn and recite poem.

(B) Learners write a fictional work.

(C) Learners can get rid of typing.

(D) Learners write a former letter.
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(196) What cannot be improved by Grammar translation method ?

(A) Structure of writing (B) Vocabulary
(C) Floral writing (D) Fluency
(197) How can one learn language in terms of audiolingual method ?
(A) Descriptively (B) Finally
(C) Contextually (D) through translation
(198) What s the basis of phonetic grouping in terms of gradation of structure ?
(A) Sound (B) marks of Punctuation
(C) Guidance (D)Goals
(199) How does semantic sequencing take place ?
(A) Depending on their audio (B) Depending on their meaning
(C) Depending on voice - over (D) Depending on views

(200) Where does the root lie of 'whole' language ?

(A) Reader - friendly work (B) Writer - friendly work
(C)Holism (D) Structural view
L A 2 4
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